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Old Syllabus

Sem. V/ME

Garage Practice

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

Time : 3Hrs.
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re-conditioning:

(i) Cylinder reboring

(ii) Honig

(iii) Valve grending

(iv) Cam shaft grinding.

(ii) 

(iii) 

(iv) 

(i) Bharat stage III

(ii) Air compressor

OR

11.

8

2 33501

1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        Lubricating oil:

(a) Minimizes wear in moving parts

(b) Helps in keeping the parts cool

(c) Washes away and carries away dirt

(d) All of the above

Viscosity index (VI) is a measure for the 

change of viscosity with change in:

(a) Temperature

(b) Pressure

(c) Volume

(d) All of the above
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What are the advantages of painting a vehicle?

Describe the painting processes step-by-step.

Write the functions of wheel alignment machine.

Describe each function in brief.

detail.

OR

OR

10.

8

3 33501
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(iii)

(iii)

(iv)

(ii)

Economizer allows a large opening to the
main jet when the throttle is ...........beyond
specified limit.
(a) Closed
(b) Opened
(c) Partially opened
(d) None of the above

The following is (are) oil pressure gauge(s)
(a)  Pressure expansion type
(b)  Electric type
(c)  Both (a) and (b)
(d)  None of the above
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What are the duties and responsibilities of service 

advisors and service supervisor? Describe in detail.

Write notes on:

(i) Customer satisfaction index.

(ii) Followup of repaired vehicles for any problem

     left.

(i) Repair of damaged portion of car body by 

     special tool.

(ii) Chasis straightening equipment.

8.

8

8

OR

9.

4 33501

(v)

(v)

(vi)

(iv)

Spark plug fault may be due to:

(a) Choke sticking

(b) Incorrect ignition timing

(c) Incorrect gap

(d) All of the above

The multi stage compressor as compared to

single stage compressor.................

(a) Improve volumetric effiency for the 

     given pressure ratio

(b) Reduces cost of compressor

(c) Gives more uniform tarque

(d) All of the above
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Answer all Five Questions. 

Name different machines, tools and equipments 

which are essential in a garage for proper 

maintenance and repair of vehicles. Mention the

function of any one machine or equipment.

Write notes on the following:

(i) Torque wrench

(ii) Spark plug tester

8 x 5 = 40

8

7.

OR

5 33501
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The commonly used anti-freeze solution in
automobile is:
(a) Carbon di-sulphide
(b) Bromium chloride
(c) Freon-12
(d) Ethylene glycol

The purpose of cylinder gasket is to:
(a) Prevent the combustion gases from 
      leaking from the joint between the 
      cylinder block and the cylinder head
(b) Prevent engine oil form going into 
      combustion chamber
(c) Remove impurities from the cylinder
      head lubricating oil
(d) None of the above

(vii)

(vii)

(viii)

(vi)
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OR

4

6.

Write short notes on starter motor.

cylindrical bore gavge.

OR

6 33501

The main purpose of an engines air cleaner
is that it:
(a) Controls the engine's air intake volume
(b) Reduces the engine's air intake noise
(c) Prevents rain water from entering the
     engine
(d) Prevents dust and other foreign matter
     from entering engine.

(ix)

(ix)

(viii)
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What are the advantages of engine tuning?

in a garage? Describe the working of fire 

extinguisher in brief.

4.

5.

4

4

OR

7 33501
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removed with:
(a) Water
(b) Caustic soda
(c) Scraper
(d) Soap

Reconditioning process used to give cylinder
bore surface across hatch pattern, is known 
as ..........
(a) Boring
(b) Porous plating
(c) Honing
(d) None of the above

(x)

(xi)

(xi)

(x)
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Answer all Five Questions. 
4 x 5=20

What are the advantage of layout of equipments in

a garage?

Explain the terms camber and caster in brief.

brake.

OR

2.

4                     

4                     

                                   OR

3.

8 33501

in supplied,  the colour of exhaust flame is 
expected to be:
(a) Dark red
(b) Bluish transparent
(c) Dark blue to reddish yellow
(d) None of the above

Valve system defect may be due to:
(a) Sticking value
(b) Incorrect value timing
(c) Valve spring broken
(d) All of the above

(xii)

(xiii)

(xiii)

(xii)
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(xx) Thinner is added to the paint in order to:

(a) Make pigments and resin mix easily

(b) Make paint film hard

(c) Optimize its(paint's) viscosity

(d) All of the above

(xx)

9 33501
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raising the vehicle is operated:
(a) Mechanically
(b) Hydraulically
(c) Both (a) and (b)
(d) None of the above

Safety week is celebrated...................
(a) To give rest to the workers
(b) To improve safety habits among the
      workers.
(c) To benefit customers
(d) None of the above 

(xiv)

(xv)

(xv)

(xiv)
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generally done by:

(a) Open ended spanner

(b) Box/socket wrench

(c)  Torque wrench

(d) All of the above

Clutch slip could be caused by:

(a) Excessive clearance at pedal

(b) Lack of clearance in pedal linkage

(c) Seizure of the spigot bearing

(d) None of the above

(xviii)

(xviii)

(xix)

(xix)

10 33501

When the top of the wheel is tilted outward,
then it is called:
(a) Positive camber
(b) Negative camber
(c) Positive caster
(d) Negative caster

The forced feed lubrication system means
that oil is delivered to the engine by:
(a) Gravity
(b) Splashing action of the crank shaft
(c)  The pressure created by the oil pump
(d) None of the the above

(xvi)

(xvii)

(xvii)

(xvi)
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